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Inertia tensor at the book

# a= 3cm ( see 10,25
,

previous mw )

##=]c= 30cm

a an Iaetzmlboj
"

aloe'aka . )
X. = tsmclitey
Xz=tzM ( ate

' ) Xi > tz > 73 spin around £
,

W
,

= Wacanst D wz
,

Wz

ys=zM( btta '

) yjwz = ( Xs - XDW was

in =

ate '

{
His = ( X ,

- 7.) wwz

{
a.=a¥÷I:3 .

in " ÷÷ www.twitter.nu
R= www..GE#atagtg=o.g7w=l74rpm

if spinning around £3
, r= wf.MY#gIe?g=ao.6l.w= 110 rpm



o.gg#EnyIEIItIIs:iieo
,÷= .

Wz = W }o + 1%3 - t

in,

=
L W

} wz y
= witiwz

|iz=-Lwzw,
g. = i. + ii.

y• = L w
} ( wz - iw

, ) = - idw } ( iwz + w
, ) .

. - idw
}y

g. = - it ( wsot ¥
,

t ) .

y yH=o)= wio



dy
g. = - it ( wsot Fat ) .

y =µ
.

.

a ( btcttiy

ln1
= a ( btetl . t

y
= A . €

at  + btz
7°

ye = A eat
 + be

.( a +

z←y
yg

.

,

ealbtett
't

at
Zbt

 = -
idwso - it ryyt

a = - idwso
,

b = - it Ex
,

y= A. did ↳ + Est )t= A ( as Ldlwsoeraatttftisinl ] )
w

,
= Wio . cos [ ¥3 ( w

3.
+ East

)t]y
5 component in xy plane

has fixed magnitude ,

and rotates with freyeeuy
wz= Wio . sin [ ¥3 ( w }ot Fat)t] increasing with time|

- - W } uniformly increasesWz = Wzot ¥3 l


